- 21EZN, 162, BN EH
- R QCOFHEBE1DHER)
- ANBHORIE

- XFOXRIR

ATRMIS- 528 THORE 1



FTERIZ 528 THORE

2%

MEOE1DH CRIF

10 | 24 10 | 28 10+ 2+
0 0 6 110 12 1100
1 1 7 111 13 1101
2 10 8 1000 14 1110
3 11 9 1001 15 1111
4 100 10 1010 16 10000
5 101 11 1011 17 10001

) 21 = 10101, 129 = 10000001, 63 = 111111




A A%
- By b =2 —#H7;bit (binary digit)
- By, EyME, xLERIEYES, R TFAEYR
- I\ b=2E&E8#T, DFD8E W ;byte
- 16Eyb=2)\1}, 32EYb=4)\1}, 64EY+=8)\1 k

- D—F(EB)E
- REFETER (MPU) (CIRTF
- {516y FMPUTZ2)\M RN —F, 32EY g4I\ b
M1J—F)

ATRMIS- 528 THORE 3



0—9EA—FETONFEEMFET B

106E380 | 2% | 16EH 102 | 2EH | 16:EH
0 0 0 11 1011 B
1 1 1 12 1100 C
2 10 2 13 1101 D
3 11 3 14 1110 E
4 100 4 15 1111 F
5 101 5 16 10000 10
6 110 6 17 10001 11
7 111 7 18 10010 12
8 1000 8 19 10011 13
9 1001 9 20 10100 14
10 1010 A 21 10101 15

ATRMIS- 528 THORE 4



255D ‘27, 10EE5ED 107, 16D’ 16° D™
[ q—;ﬂjtﬂ—-/b\
HHMarET3MDRELE = riEE

- rENHTCRIATCZTIEHMDER: 0<z<r" -1
(BHOFREE)
n—1 .
Qp—1-+-azajag = Y  a;r’
)

51) 24 11101 = 105 29

1.2441.2341.2240.21 1 1.20

ATERI - 5528 [ ORI | 5



(IMIDRELIE)

- a3a2a100.4_1G_2 +++ = Zairi

H1)2+4 11101.011= 104 [29.375

1.2%4+1.234+1.2240.21+1.2040.07141.07247.0-3

512) 16 A.B = 10 [10.6875

11
A+B-16"1 =10+ e = 10.6875

ATERI - 5528 [ ORI | 6



A= ZoNTZHDEHzANEZEACRIR

E?k?ﬁaa“é_t
25t 105 163
11001 25 19
0.1 0.5(271) 0.8
0.01 0.25 (272) 0.4
10.0111 2.4375 2.7
10001100.1000111 140.5546875 8C.8E

ATRMIS- 528 THORE




ST HEHEATOT —3RIT

- FTEH#AETEODEAEHRE0E1D2IRREDE
BCTXRIHEINDS
- FHEHTIRONS T —ADIEEE

By
Ky fig = — -
T -3 BN
L =y
T4 SN B A B

ATRMIS- 528 THORE 8



- PIVIPRY M ERK, YRR T W TEFHRIA
- PIVTPAY R ASCIO— FTRIF
- 1)1 b=13F, FAXF
- BT
- 2] b=1XF
- JIS, Y7 RJIS, EUC, UnicodelZEREMDIREH HD
- FANFIIASCII— FOHLIRICHE>THEDHRDF

) NEFIITEAT SHa—F

JIS 1B 2442 3441 3B 7A 1B 28 42
V7 RJIS 8A BF 8E 9A
EUC B4 C1 BB FA

ATRMIS- 528 THORE 9



ASCIIJ—F

(American National Standard Code for Information Interchange)

LR R PR - 0 0 ol oo ofJ]o 0
LT E P EPEPE PR - 0 0 0 0 1 1 1 1
......................... 0 0 1 1 0 0 1 1
AR - 0 1 0 [ 1 0 | 1 0 1 ]
E |bs|b7|bs|bs|ba|b3|b2|b1[s 0 1 2 | 3] 4]5 6|7 /'J\
¢ rloJlojojo[Oo] NUL |TC7(DLE) |[SP | O | @ | P P | =
5 olof[o|1]1] TCI1(SOH) DC1 [ 1 AlQ]|] a| a]~«
B olof[1[o]|2] TC208TX) DC2 ” 2| B| R | b r ti/'
olo[1]1[3] TC3ETX DCs # | 3] Cc| s | ¢ s |
0/1/0]|0]|4]| TC4(EQOT) DC4 $ 4 D | T d t |
o[1/0[1]5] TCs(ENQ [TCe(NAK) | % | 5 | E | U | e u | =
T |[o[1]1]o]6]TCs(ACK) [TCo(SYN) | & | 6 | F | v | t | v | &
ﬁ,_} 0[1]1[1[7] BEL |TC10(ETB) 7| g w/| g | w
v |[1]/o]o]|o[8] FEo(BS) CAN ( 8 | H| X | h X
Ml{{1]o]o|1]9] FE1(HD EM ) | 9 I |y i y
1{o[1|of10] FE2(LP SUB * : J | z j z
1lo[1]1[11] FEa(VT) ESC + ; K| [ k {
1[1/0]|0[12| FE4(FF) | 1Sa(FS) | - < L | ¥ I |
1[1[{0|1[13) FEs(CR) | 1S3@GS) | — | = | M| ] | m | }
1[1[1]0[14 SO 1S2(RS) | . > | N n
1[1[1]1]15 S| Isius) | /| 2| O o |DEL

) “A” =65, “a” = 97

STERIZE- 528 THORE

10



- 8Ewh, 16EYE, 32EY M GE
- RIFTEFAHOER

BHNDKRIA

- INTHEI2HEHN TRIRSNIBMASND
1 90)’5&%_%@5"\} I\él'féﬂvli%ﬁ EwJ T2 T47> (bigendian)

L

Jk)LZ T 472 (little endian)

[ EZDEY M TRED

) 104£“91” — 1011011

- IEQBHUMEDG MG S EIN TLLY

- ANBHLIXOGELFA BRI ENMDEIC
- %ﬁﬁﬁﬁr‘l‘%ﬁ(riutjbf FTRERE; " -"Z1(0)

ATRMIS- 528 THORE 11



. TxICxt g 2Hshy 1L, HBRETEATKILT
Xty =2z tﬁ%)J::ﬂEI y’éE:)
- zlE, BTN TRED

- rERDEUTHU, TrD@EEIE —1 DI = F FE
- {5) 10:EDEN123D#HEN (10, 5EEHTEL3)

10D %L 1000 OMDFHEN 999
- 123 - 123

8717 876

ATRMIS- 528 THORE 12



2 EZ DL

1DFHE2DH /N HD
— ) HTETDIZESD, 1101101 DM 1DEEIET2M%E %

1 DAL

1111111
~ 1101101 > A HD1E0E ANE L DERL
0010010
0L
10000000
- 1101101

0010011 1DFEINZEMMATEDERU

ATRMIS- 528 THORE 13



20FAFUCLIEDHDERIF(1/2)

- BO#xE, TOTHE|X|D2ERRD20DFHET
RIMIBIAE

- fH)8Ew I (8HT) T EKRIRT 5155, —1262126
=01111110 M2M%H%L 10000010 TXRIFT S

- xELHEYNERBEFEINDHS
- BRI IEHICHRIEDBDRIAAIRER

&0 F N ECTE B
- FOBITIE, 255©-1,254-2, -+, 128=—128

- YR CRBTESHROFE: 20! ~27'-1

ATRMIS- 528 THORE 14



201U LEEDEHDERIA(2/2)

- 20 CAERERETIE, BREZ2ERDINE
CIETZHF R_NDHS

5]) 8w F CERIRT 5155 D100-90

100 =01100100
-90=10100110 (90 =01011010)

01100100 (100)
+ 10100110 (-90)

B ek 100001010
EI1E 00001010 (10)

ATRMIS- 528 THORE 15



&% : BB L

B{iE=s NCES ULl
T(73) 1012 240
G(FH) 10° 230
M (AHT) 106 220
k(¥0) 103 210
m (V) 1073 -

u (I450) 10 ~
n(F/) 107° -
p(ED) 10712 -

IR IE 2R THORE ) 16



